
MATHS

BOOKS - CHETAN MATHS (TAMIL

ENGLISH)

LINEAR EQUATIONS IN TWO

VARIABLES

Example

1. .5x − 3y = 8, 3x + y = 2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TV6C0OYxYmDQ


Practic Set 1 1

Watch Video Solution

2. Solve: 

Watch Video Solution

3x + 2y = 29, 5x − y = 18

1. Complete the following activity to solve the

simultaneous equations.

5x + 3y = 9, 2x − 3y = 12

https://dl.doubtnut.com/l/_TV6C0OYxYmDQ
https://dl.doubtnut.com/l/_e02NyW3HzNTr
https://dl.doubtnut.com/l/_IJBJZpMfgcCH


Watch Video Solution

2. 

Watch Video Solution

3a + 5b = 26; a + 5b = 22

3. 

Watch Video Solution

x + 7y = 10, 3x − 2y = 7

4. 2x − 3y = 9, 2x + y = 13

https://dl.doubtnut.com/l/_IJBJZpMfgcCH
https://dl.doubtnut.com/l/_3HOYffNlyugq
https://dl.doubtnut.com/l/_CvQ5lznRMH0K
https://dl.doubtnut.com/l/_gX0Pt6JEzEDC


Watch Video Solution

5. 

Watch Video Solution

5m − 3n = 19, m − 6n = − 7

6. 

Watch Video Solution

5x + 2y = − 3, x + 5y = 4

7. x + y = , 2x + y =
1

3

10

3

1

4

11

4

https://dl.doubtnut.com/l/_gX0Pt6JEzEDC
https://dl.doubtnut.com/l/_OsKLTiWoXrdQ
https://dl.doubtnut.com/l/_ef7vCaPk2LlI
https://dl.doubtnut.com/l/_TaD9eEfxtVHS


Practic Set 1 2

Watch Video Solution

8. Solve 

Watch Video Solution

99x + 101y = 499; 101x + 99y = 501

9. 

Watch Video Solution

49x − 57y = 172, 57x − 49y = 252

https://dl.doubtnut.com/l/_TaD9eEfxtVHS
https://dl.doubtnut.com/l/_SAFWwBsF8hR3
https://dl.doubtnut.com/l/_IQvBSc1ykCxM
https://dl.doubtnut.com/l/_U1VGjFq2nij0


1. Complete the following table to draw graph

of the equations. 

 

Watch Video Solution

x + y = 3, x − y = 4

2. 

Watch Video Solution

x + y = 6, x − y = 4

https://dl.doubtnut.com/l/_U1VGjFq2nij0
https://dl.doubtnut.com/l/_ERCpMxRtbGN8
https://dl.doubtnut.com/l/_0vw3wtowwYE2


3. 

Watch Video Solution

x + y = 5, x − y = 3

4. 

Watch Video Solution

x + y = 0, 2x − y = 9

5. 

Watch Video Solution

3x − y = 2, 2x − y = 3

https://dl.doubtnut.com/l/_0vw3wtowwYE2
https://dl.doubtnut.com/l/_2cQcqcmG4KX4
https://dl.doubtnut.com/l/_ohMSH7UpmAkc
https://dl.doubtnut.com/l/_wFO8SzjUx2bt


Practic Set 1 3

6. 

Watch Video Solution

3x − 4y = − 7, 5x − 2y = 0

7. 

Watch Video Solution

2x − 3y = 4, 3y − x = 4

https://dl.doubtnut.com/l/_wFO8SzjUx2bt
https://dl.doubtnut.com/l/_UEWsFasS7xXy


1. Fill in the blanks with correct number. 

 

 

Watch Video Solution

∣
∣
∣

3 2

4 5

∣
∣
∣

= 3 × □ − □ × 4

= □ − 8

= □

2. 

Watch Video Solution

∣
∣
∣

−1 7

 2 4

∣
∣
∣

https://dl.doubtnut.com/l/_eq3bUQh95bkf
https://dl.doubtnut.com/l/_3F7XdKhMyTDM


3. 

Watch Video Solution

∣
∣
∣

 5 3

−7 0

∣
∣
∣

4. 

Watch Video Solution

∣
∣
∣
∣

∣
∣

∣
∣

7
3

5
3

3
2

1
2

5. , 

Watch Video Solution

3x − 4y = 10 4x + 3y = 5

https://dl.doubtnut.com/l/_sZhWnVKsEnyT
https://dl.doubtnut.com/l/_STttp10Pxzxn
https://dl.doubtnut.com/l/_nE25QQOAutUV


6. 

Watch Video Solution

4x + 3y − 4 = 0, 6x = 8 − 5y

7. 

Watch Video Solution

x + 2y = − 1, 2x − 3y = 12

8. 

Watch Video Solution

6x − 4y = − 12, 8x − 3y = − 2

https://dl.doubtnut.com/l/_nE25QQOAutUV
https://dl.doubtnut.com/l/_QbF5IieLjfMp
https://dl.doubtnut.com/l/_H8BeWKQnjTOa
https://dl.doubtnut.com/l/_hZddHa4fFm3M


Practic Set 1 4

9.  .

Watch Video Solution

4m + 6n = 54, 3m + 2n = 28

10.  .

Watch Video Solution

2x + 3y = 2, x − =
y

2

1

2

https://dl.doubtnut.com/l/_hZddHa4fFm3M
https://dl.doubtnut.com/l/_payjHTKLms8i
https://dl.doubtnut.com/l/_rcygKaFNdDgv


1. 

Watch Video Solution

− = 15, + = 77
2

x

3

y

8

x

5

y

2.

Watch Video Solution

+ = 4, − = − 2
10

x + y

2

x − y

15

x + y

5

x − y

3. Solve the following simultaneous equations:

+ = 35, + = 89
27

x − 2

31

y + 3

31

x − 2
27

y + 3

https://dl.doubtnut.com/l/_Ibv8YSt8afG8
https://dl.doubtnut.com/l/_8JMRoHuP34ti
https://dl.doubtnut.com/l/_4eXZqNcyWqvT


Practic Set 1 5

Watch Video Solution

4. , 

Watch Video Solution

+ =
1

3x + y

1

3x − y

3

4

− = −
1

2(3x + y)

1

2(3x − y)

1

8

1. Two numbers differ by 3 . The sum of twice

te smaller number and thrice the greater

https://dl.doubtnut.com/l/_4eXZqNcyWqvT
https://dl.doubtnut.com/l/_55hnnlmvfWNj
https://dl.doubtnut.com/l/_dR9DhSlZOldD


number is 19 . Find the numbers .

Watch Video Solution

2. Complete the following activity . 

Watch Video Solution

https://dl.doubtnut.com/l/_dR9DhSlZOldD
https://dl.doubtnut.com/l/_ySGPfIVGCYzv


3. The sum of father's age and twice the age of

his son is 70 . If we double the age of the

father and add it to the age of his son,the sum

is 95 find their present ages.

Watch Video Solution

4. The denominator of a fraction is 4 more

than twice the numerator . Denominator

becomes 12 times the numerator, if both the

https://dl.doubtnut.com/l/_yC9RYJrxjTi6
https://dl.doubtnut.com/l/_HH9rwZjZe8x4


numerator and denominator are reduced by 6

. Find the fraction.

Watch Video Solution

5. The types of boxes A, B are to be placed in a

truck having capacity of 10 tons. When 150

boxes of type A and 100 boxes of type b are

loaded in the truck, it weightes 10 tons . But

when260 boxes of type A are loaded in the

truck , it can still accommodate 40 boxes of

https://dl.doubtnut.com/l/_HH9rwZjZe8x4
https://dl.doubtnut.com/l/_lLtt5wlJFmv2


type B, so that it is fully loaded . Find the

weight of each type fof box ?

Watch Video Solution

6. Out of 1900 km, Vishal travelled some

distance by bus and some by aeroplane . Bus

travels with average speed 60 km/hr and the

average speed of aeroplane is 700 km/hr . It

takes 5 hours to complete the journey . Find

the distance, Vishal travelled by bus .

Watch Video Solution

https://dl.doubtnut.com/l/_lLtt5wlJFmv2
https://dl.doubtnut.com/l/_t8xqP5tNndHB


Problem Set 1

1. Complete the following table to draw the

graph of  

Watch Video Solution

2x − 6y = 3

https://dl.doubtnut.com/l/_t8xqP5tNndHB
https://dl.doubtnut.com/l/_gfuXqwU55ou1
https://dl.doubtnut.com/l/_OZMheITCokAE


2. Solve the following
 system of linear

equation graphically and shade the region

between the two
 lines and x-axis.

Watch Video Solution

2x + 3y = 12,    x − y = 1

3. 

Watch Video Solution

x − 3y = 1, 3x − 2y + 4 = 0

4. 5x − 6y + 30 = 0, 5x + 4y − 20 = 0

https://dl.doubtnut.com/l/_OZMheITCokAE
https://dl.doubtnut.com/l/_YTcSwVGfKDyB
https://dl.doubtnut.com/l/_8XQ5YNGQnFpB


Watch Video Solution

5. Solve  by

method of cross multiplication .

Watch Video Solution

3x − y − 2 = 0, 2x + y − 8 = 0

6. 

Watch Video Solution

3x + y = 10, x − y = 2

https://dl.doubtnut.com/l/_8XQ5YNGQnFpB
https://dl.doubtnut.com/l/_kijdC2Oaq2Eh
https://dl.doubtnut.com/l/_vZJpYnLoVhXb


7. Find the value of the determinant .

Watch Video Solution

∣
∣
∣

4 3

2 7

∣
∣
∣

8. 

Watch Video Solution

∣
∣
∣

 5 −2

−3  1

∣
∣
∣

9. 

Watch Video Solution

∣
∣
∣

3 −1

1  4

∣
∣
∣

https://dl.doubtnut.com/l/_v2lNn5h9y6Re
https://dl.doubtnut.com/l/_k2xkl7Vf6ntT
https://dl.doubtnut.com/l/_g9GQE9jYFfjy


10. 

Watch Video Solution

6x − 3y = − 10, 3x + 5y − 8 = 0

11. Solve the following equations by Cramer's

method. 

Watch Video Solution

4m − 2n = − 4, 4m + 3n = 16

12. 3x − 2y = , x + 3y =
5

2

1

3
−4
3

https://dl.doubtnut.com/l/_7GBpUBAmEGtg
https://dl.doubtnut.com/l/_NeA3Kr1IdpFp
https://dl.doubtnut.com/l/_NcdZXaLNGCHI


Watch Video Solution

13. Solve the following equations by Cramer's

method. 

Watch Video Solution

7x + 3y = 15, 12y − 5x = 39

14. Solve for  and  


Watch Video Solution

x y

+ = , + = 0
2

x

2

3y

1

6

3

x

2

y

https://dl.doubtnut.com/l/_NcdZXaLNGCHI
https://dl.doubtnut.com/l/_tJlmuhfhaBjq
https://dl.doubtnut.com/l/_gKYjXcG4L3Fg


15. Solve the following simultaneous

equations: 

Watch Video Solution

+ = 27, + = 33
7

2x + 1

13

y + 2

13

2x + 1
7

y + 2

16. 

Watch Video Solution

+ = , + =
148
x

231

y

527

xy

231

x

148

y

610

xy

https://dl.doubtnut.com/l/_gKYjXcG4L3Fg
https://dl.doubtnut.com/l/_ldRseTrS8038
https://dl.doubtnut.com/l/_yfNe3ayKbWho


17. Solve the following
 system of equations:

Watch Video Solution

= 5,     = 15
7x − 2y

xy

8x + 7y

xy

18. 

Watch Video Solution

= = ,
1

2(3x + 4y)

1

5(2x − 3y)

1

4

19. A two digit number and the number with

digits interchanged add up to 143 . In the

https://dl.doubtnut.com/l/_t7ERH5ZdwQ8o
https://dl.doubtnut.com/l/_ZwdTGN1ZRyeN
https://dl.doubtnut.com/l/_coCZK4utpfRB


given number the digit in unit's place is 3

more than the digit in the ten's place . Find

the original number.

Watch Video Solution

20. Kantabai bought  kg tea and 5 kg sugar

from a shop. She paid Rs.50 as return fare for

rickshaw. Total expense was Rs. 700 . Then she

realised that by ordering online the goods can

be bought with free home dilivery at the same

price . So next month she placed the order

1
1

2

https://dl.doubtnut.com/l/_coCZK4utpfRB
https://dl.doubtnut.com/l/_Z9H6dP6kGPSt


online for 2 kg tea and 7 kg sugar. she paid Rs.

880 for that . find the rate fo sugar and tea per

kg.

Watch Video Solution

21. Places A and B are 30 km apart and they are

on a straight road. Humid travels from A to B

on bike. At the same time Joseph starts from B

on bike, travels towards A. they meet each

other after 20 minutes . If Joseph would have

started from B at the same time but in the

https://dl.doubtnut.com/l/_Z9H6dP6kGPSt
https://dl.doubtnut.com/l/_v5pemrIgNvHo


opposite direction (instead of towards A)

Hamid would have caught up with him after 3

hours . find the speed of Hamid and Joseph .

Watch Video Solution

22. To find number of notes that Anushka had

complete the following activity . 

Watch Video Solution

https://dl.doubtnut.com/l/_v5pemrIgNvHo
https://dl.doubtnut.com/l/_0Pgh6iGRINyB


23. Sum of the present ages of Manish and

Savita is 31 . Manish's age 3 years ago was 4

times the age of Savita . Find their present

ages .

Watch Video Solution

24. In a factory the ratio of salary of skilled and

unskilled workers is  . Total salary of one

day of both of them is Rs . 720 . Find daily

wages of skilled and unskilled workers .

5: 3

https://dl.doubtnut.com/l/_0Pgh6iGRINyB
https://dl.doubtnut.com/l/_3yoL5wONyk1Y
https://dl.doubtnut.com/l/_P7ulQOotLc5v


Watch Video Solution

25. For drawing the graph of , if 

, what is the value of ?

A. 

B. 

C. 41

D. 1

Answer: A

4x + 5y = 19

x = 1 y

−1

−41

https://dl.doubtnut.com/l/_P7ulQOotLc5v
https://dl.doubtnut.com/l/_0OGmdRDRmL2e


Watch Video Solution

26. For simultaneous equations in  and , if 

,  and , then what is

the value of ?

A. 5

B. 1

C. 

D. 

Answer:

x y

Dx = 25 Dy = 50 D = 5

x

−5

−1

https://dl.doubtnut.com/l/_0OGmdRDRmL2e
https://dl.doubtnut.com/l/_I8dTjJEYFTMN


Watch Video Solution

27. Find the value of 

Watch Video Solution

∣
∣
∣

 5  3

−7 −4

∣
∣
∣

28. To solve  by

determinant method find D

Watch Video Solution

x + y = 3, 3x − 2y − 4 = 0

https://dl.doubtnut.com/l/_I8dTjJEYFTMN
https://dl.doubtnut.com/l/_8Adj0YPdW3IE
https://dl.doubtnut.com/l/_77RgxvATs4rJ


29.  and . If 

, then these simultaneous equations

have

A. (0, 2)

B. (2, 0)

C. 

D. 

Answer: B

Watch Video Solution

ax + by = c mx + ny = d

an ≠ bm

( − 2, 0)

(0, − 2)

https://dl.doubtnut.com/l/_31gPWolsbAv5


30. The general form of linear equation in two

variables is ........

Watch Video Solution

31. Solve the following simultaneous linear

equations in two variables by the method of

elimination :


A. 

B. 

11x − 7y = 4; 7x + 11y = 18

x − 5y = 7

x − 7y = 5

https://dl.doubtnut.com/l/_MhQdkpIX4Ylb
https://dl.doubtnut.com/l/_vk1X8jFRvM5d


C. 

D. 

Answer:

Watch Video Solution

x + 7y = 5

x − 7y = − 5

32. Find the value of , if 


 and 


A. 

x + y

12x + 13y = 29

13x + 12y = 21

∣
∣
∣

3  4

1 −2

∣
∣
∣

https://dl.doubtnut.com/l/_vk1X8jFRvM5d
https://dl.doubtnut.com/l/_48mq48n2Q5ZK


B. 

C. 

D. 

Answer: B::D

Watch Video Solution

∣
∣
∣

8  4

5 −2

∣
∣
∣

∣
∣
∣

 4 8

−2 5

∣
∣
∣

∣
∣
∣

3 8

1 5

∣
∣
∣

33. Express the following in following in the

mathematical form using x and y variables :

one number is 5 more than seven times the

other number .

https://dl.doubtnut.com/l/_48mq48n2Q5ZK
https://dl.doubtnut.com/l/_9p3GIe9DAZkn


Watch Video Solution

34. Find the value of , for solving the

simultaneous equations  , 

 by Cramer's rule.

A. Simultaneous equations

B. linear equations

C. quadratic equations

D. non-linear equations .

Answer: A

Dx

3x + 4y = 8

x − 2y = 5

https://dl.doubtnut.com/l/_9p3GIe9DAZkn
https://dl.doubtnut.com/l/_P63zGb5FK7XS


Watch Video Solution

35. ........ Is the solutions of given simultaneous

equations  .

Watch Video Solution

x − y = 7, x + y = 11

36. Solve the following simultaneous linear

equations in two variables by the method of

elimination :
 ;


A. 

2x + 2y = 10 2y − 3x = − 5

3x + 9 = √2y + 2

https://dl.doubtnut.com/l/_P63zGb5FK7XS
https://dl.doubtnut.com/l/_PRkNTjmMd321
https://dl.doubtnut.com/l/_9VyWH43aMiqA


B. 

C. 

D. 

Answer: B::C

Watch Video Solution

3x − 4x + xy = 0

2m − 8 = 4m

3x − 14 = 9

37. Solve the following simultaneous linear

equations in two variables by the method of

elimination :
  ;23x + 17y = 63

17x + 23y = 57

https://dl.doubtnut.com/l/_9VyWH43aMiqA
https://dl.doubtnut.com/l/_yAwLfnQCuT64


A. 1 and 2

B. 2 and 3

C. 3 and 4

D. 2 and 4

Answer: A::B::D

Watch Video Solution

38. x+3y = -4 ; 5x-7y=68

Watch Video Solution

https://dl.doubtnut.com/l/_yAwLfnQCuT64
https://dl.doubtnut.com/l/_a7j0oMzufSTL


39. The pair of simultaneous equations from

the following is .......... 

(1)  

(2)  

(3)  

(4)

Watch Video Solution

2x + 2y = 7

4x + 3z = 9

3y + 4z = 8

3z + 9x = 18

40. The equation of X-axis is of the form

https://dl.doubtnut.com/l/_a7j0oMzufSTL
https://dl.doubtnut.com/l/_hWfDSJx8o1Bm
https://dl.doubtnut.com/l/_5TZcEFk6bGit


A. -3

B. 3

C. -7

D. 7

Answer: C

Watch Video Solution

41. The Co-ordinates of the point of origin are

.....

https://dl.doubtnut.com/l/_5TZcEFk6bGit
https://dl.doubtnut.com/l/_7AnzaXUI4LCi


Watch Video Solution

42. If the value of the determinant 

is 7 then value of m is ...........

A. 3

B. -6

C. 34

D. -34

Answer: A

Watch Video Solution

∣
∣
∣

m −2

2  1

∣
∣
∣

https://dl.doubtnut.com/l/_7AnzaXUI4LCi
https://dl.doubtnut.com/l/_GeqH4J8jUnel


43. The perimeter of rectangle is 64, is

expressed in the mathematical equation form

as ...........

Watch Video Solution

44. The value of determinant  is ......

A. 14

B. 3

∣
∣
∣

5 2

7 4

∣
∣
∣

https://dl.doubtnut.com/l/_GeqH4J8jUnel
https://dl.doubtnut.com/l/_A4ee2oAHKKFV
https://dl.doubtnut.com/l/_xAGHNcReNbNA


C. 6

D. 21

Answer: C

Watch Video Solution

45. If  and D = 3 are values of

determinant for certain simultaneous

equation in x and y then value of x is .........

A. 2

Dx = − 18

https://dl.doubtnut.com/l/_xAGHNcReNbNA
https://dl.doubtnut.com/l/_WlXGXxIaDR0e


B. 

C. 

D. 

Answer: B

Watch Video Solution

−6

2

5

−2

5

46. If the value of determinant  is ,

find the value of .

A. unique solution

∣
∣
∣

m 2

−5 7

∣
∣
∣

31

m

https://dl.doubtnut.com/l/_WlXGXxIaDR0e
https://dl.doubtnut.com/l/_39zJ9JtUY9d4


B. No solution

C. infinitely many solutions

D. none of these

Answer:

Watch Video Solution

47. If (a, 3) is point lying on graph of equation

 then a = ........

Watch Video Solution

5x + 2y = − 4

https://dl.doubtnut.com/l/_39zJ9JtUY9d4
https://dl.doubtnut.com/l/_Eg34n7bbKDb3


Problems For Practice Based On Practice Set 1 1

Solve The Following Simultaneous Equations

48. The simultaneous equations 

and  have .........

Watch Video Solution

3x + 5y = 16

4x − y = 6

1. x+y=10 ; 5x-3y=-6

Watch Video Solution

https://dl.doubtnut.com/l/_7ECqGveuYwhB
https://dl.doubtnut.com/l/_v7vqyOETM5jy
https://dl.doubtnut.com/l/_24PwBsZUBurb


2. 2x+y=3 ; x-3y=5

Watch Video Solution

3. 

Watch Video Solution

3x − y = 2, 5x − 2y = 1

4. 

Watch Video Solution

47x + 31y = 63, 31x + 47y = 15

https://dl.doubtnut.com/l/_24PwBsZUBurb
https://dl.doubtnut.com/l/_Ke1LC1FJNliE
https://dl.doubtnut.com/l/_B40fkJ4wsnqG
https://dl.doubtnut.com/l/_VmtqkQuGtcqG


5. 

Watch Video Solution

4m + 3n = 18, 3m − 2n = 5

6. 

Watch Video Solution

2x − 3y = 14, 5x + 2y = 16

7. 

Watch Video Solution

x + 5y = 13, 2x + y = 19
1

3

1

2

https://dl.doubtnut.com/l/_VmtqkQuGtcqG
https://dl.doubtnut.com/l/_44HXsehlET6W
https://dl.doubtnut.com/l/_tfhSPEzq7Ztx


Problems For Practice Based On Practice Set 1 2

Solve The Following Simultaneous Equations

Using Graphical Method

1. 

Watch Video Solution

x + y = 4, x − y = 4
1

3

1

4

5

6

1

8

2. 

Watch Video Solution

64m − 45n = 289; 45m − 64n = 365

https://dl.doubtnut.com/l/_sFEBDr0h4dSY
https://dl.doubtnut.com/l/_aoZROQYO6A1y


3. 

Watch Video Solution

x + y = 8, x − y = 2

4. 

Watch Video Solution

3x + 4y = − 5, x − y = − 4

5. 

Watch Video Solution

x + 3y = 7, 2x + y = − 1

https://dl.doubtnut.com/l/_NSeHJsWvio5G
https://dl.doubtnut.com/l/_T4e1nwG4sq5l
https://dl.doubtnut.com/l/_CGsCyfxtWiUL


Problems For Practice Based On Practice Set 1 3

Find The Value Of Following Determinans

1. 

Watch Video Solution

x + 2y = 5, 2x + y = − 2

2. 

Watch Video Solution

4x − y = − 5, 2x − y = − 1

3. 
∣
∣
∣

5 −2

3 1

∣
∣
∣

=

https://dl.doubtnut.com/l/_nwDFW5ai5AFw
https://dl.doubtnut.com/l/_AVtYuZd2ffmR
https://dl.doubtnut.com/l/_RFQ2B6ib2Wmj


Problems For Practice Based On Practice Set 1 3

Solve The Following Simultaneous Equatiosn

Using Cramers Method

Watch Video Solution

1. Find the value of the determinant : 

Watch Video Solution

∣
∣
∣

−3 8

6 0

∣
∣
∣

2. 
∣
∣
∣
∣

∣
∣

∣
∣

1
2

− 2
3

3
4

− 4

5

https://dl.doubtnut.com/l/_RFQ2B6ib2Wmj
https://dl.doubtnut.com/l/_gvEfUHCGZmPZ
https://dl.doubtnut.com/l/_6uE9NraO44sD


Watch Video Solution

3. 

Watch Video Solution

3x − 2y = 3, 2x + y = 16

4. 

Watch Video Solution

x + 2y + 4 = 0, 3x = − 4y − 16

https://dl.doubtnut.com/l/_6uE9NraO44sD
https://dl.doubtnut.com/l/_KbnKU9q2lrxQ
https://dl.doubtnut.com/l/_0bQXjr277tLe


Problems For Practice Based On Practice Set 1 4

Solve The Following Simultaneous Equatiosns

5. Solve the simultaneous equations

,  using Cramer's rule.

Watch Video Solution

3x − y = 7 x + 4y = 11

1. 

Watch Video Solution

3x + y = 1, 2x = 11y + 3

https://dl.doubtnut.com/l/_hK9ADIyWxFF3
https://dl.doubtnut.com/l/_KmzdfMjEkjin
https://dl.doubtnut.com/l/_qX5aChFgyTV6


2. 

Watch Video Solution

4x + 3y = 4, 6x + 5y = 8

3. 

Watch Video Solution

+ = 1, − = 7
4
x

3

y

8

x

9

y

4. Solve the following simultaneous equations:

Watch Video Solution

+ = 27, + = 33
7

2x + 1

13

y + 2

13

2x + 1
7

y + 2

https://dl.doubtnut.com/l/_qX5aChFgyTV6
https://dl.doubtnut.com/l/_NJZMKUqBhd1L
https://dl.doubtnut.com/l/_JlUl13yhCJKo


Problems For Practice Based On Practice Set 1 5

Solve The Following Simultaneous Equatiosns

1. 

Watch Video Solution

+ = 5, − = 1
14

x + y

3

x − y

21

x + y

2

x − y

2.  

Watch Video Solution

+ = 2
5

x − 1

1

y − 2
− = 1

6

x − 1

3

y − 2

https://dl.doubtnut.com/l/_FJ1DSHbPvaru
https://dl.doubtnut.com/l/_vfn1iyBXwLjR


3. Shabana's age 10 years hence, will be twice

Juhi's present age. 6 years back Shabana's age

was  times Juhi's age at that time . Find their

present ages.

Watch Video Solution

5

3

4. If 1 is added to the numerator of a certain

fraction its value becomes  and if 1 is added

to its denominator its value becomes  . Find

the original fraction.

1

2
1

3

https://dl.doubtnut.com/l/_CI7sW1f5ppnW
https://dl.doubtnut.com/l/_7c8sbVvt39wD


Assignment A Choose The Correct Atlernative

Answer And Fill In The Blanks

Watch Video Solution

1. Sum of two number is 45 and the greater

number is twice the smaller number . Find the

numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_7c8sbVvt39wD
https://dl.doubtnut.com/l/_n9HPuZkvmDKL


2. A man travels 370 km partly by train and

partly by car. If he covers
250 km by train and

the rest by car, it takes him 4 hours. But, if he

travels
130 km by train and the rest by car, he

takes 18 minutes longer. Find the
speed of the

train and that of the car.

A. Only one common solution.

B. No solution

C. Infinite number of solutions.

D. Only two Solutions

https://dl.doubtnut.com/l/_XaWTigXxLLa3


Assignment B Solve The Following Questions

Answer:

Watch Video Solution

1. If x = 8 +  , and then find the value of

Watch Video Solution

√28

(√x − )
1

√x

https://dl.doubtnut.com/l/_XaWTigXxLLa3
https://dl.doubtnut.com/l/_2qNnXApzK7im


Assignment Perform The Following Activities Any

2

2.  and . If 

, then these simultaneous equations have

Watch Video Solution

ax + by = c mx + ny = d an ≠ bm

3. Write  for the following simultaneous

equations . 

Watch Video Solution

Dx

5x + 2y = 10, − 3x + y = − 11

https://dl.doubtnut.com/l/_65QDLtT4CVvk
https://dl.doubtnut.com/l/_eh19g9sUF3pE


1. Find the value of determinate : 

Watch Video Solution

∣
∣
∣

5 7

2 4

∣
∣
∣

2.  

If the equation a linear equation in two

variables ?

Watch Video Solution

√2x − √5y = 16

https://dl.doubtnut.com/l/_7fOBmYuSxEWV
https://dl.doubtnut.com/l/_3uLFR1wzjYQX


3. Complete the following table to draw graph

for equation x + 2y = 5 

Watch Video Solution

4. Solve the following simultaneous equations

Watch Video Solution

x + y = 8; x − y = 2

https://dl.doubtnut.com/l/_uU0eahWi26yn
https://dl.doubtnut.com/l/_tvQBBZtKcfna


Assignment Perform The Following Activities Any

1

1. Find the value of the following determinalts

: 

Watch Video Solution

∣
∣
∣
∣

∣
∣

∣
∣

7
8

5
3

3
2

1
2

2. Find the value of the following determinalts

: 

∣
∣
∣

3 −1

1  4

∣
∣
∣

https://dl.doubtnut.com/l/_snfH1oI7B9gW
https://dl.doubtnut.com/l/_JUWbXM93kIqa


Assignment Attempt The Following Any 2

Watch Video Solution

1. The perimeter of rectangle is 40 cm . The

length of rectangle is 2 cm more than twice its

breadth then find the length and the breadth

of rectangle . 

Complete the following activity. 

https://dl.doubtnut.com/l/_JUWbXM93kIqa
https://dl.doubtnut.com/l/_9vtECeVzNO2T


Watch Video Solution

2. Solve  

Complete the following activity . 

Watch Video Solution

15x + 17x = 21, 17x + 15y = 11

3. A boat takes 6 hours to travel 8 km up

stream and 32 km down stream and it takes 7

https://dl.doubtnut.com/l/_9vtECeVzNO2T
https://dl.doubtnut.com/l/_BwqtTDDUgecU
https://dl.doubtnut.com/l/_QjH86DjQ611q


hours to travel 20 km upstreamand 16 km

downstream. Fing the speed of the boat in still

water and the speed of the stream.

Watch Video Solution

4. Solve the folowing simultaneous equations

using Graphical method :

Watch Video Solution

2x + 3y = 12, x − y = 1

https://dl.doubtnut.com/l/_QjH86DjQ611q
https://dl.doubtnut.com/l/_RcqHbAJUMc91


5. A two digit number and the number with

digits interchanged add up to 143 . In the

given number the digit in unit's place is 3

more than the digit in the ten's place . Find

the original number.

Watch Video Solution

https://dl.doubtnut.com/l/_zoDILlj1s4lQ

